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s ggbuooboobobooboobn

] K Conf. mpg/my B K Conf. mpg/my 3 K Conf. mpg/mvy
1.50 0.150290 2000 0.678(2) | 1.50 0.147000 500 0.706(8) | 1.50 0.143480 2000  0.820(1)
1.55 0.150251 500 0.663(6) | 1.55 0.147100 500 0.720(4) | 1.55 0.143654 500 0.807(1)
1.60 0.150030 2000 0.663(2) | 1.60 0.147200 500 0.694(5) | 1.60 0.143749 2000  0.809(1)
1.65 0.149328 500 0.648(5) | 1.65 0.146500 500 0.690(6) | 1.65 0.143416 500 0.799(2)
1.70  0.148086 2000  0.659(2) | 1.70 0.145750 500 0.697(5) | 1.70 0.142871 2000  0.804(1)
1.75 0.146763 2000 0.662(3) | 1.75 0.144500 500 0.692(7) | 1.75 0.142105 500 0.796(2)
1.80 0.145127 2000 0.657(5) | 1.80 0.143300 500 0.702(6) | 1.80 0.141139 2000  0.800(2)
1.85 0.143502 2000  0.652(4) 1.85 0.140070 2000  0.794(2)
1.90 0.141849 2000  0.648(4) 1.90 0.138817 2000  0.796(2)
1.95 0.140472 2000  0.657(4) 1.95 0.137716 2000  0.802(2)
2.00 0.139410 2000 0.645(4) 2.00 0.136926 2000 0.801(2)
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B K Traj. Noise [€) B K Traj. Noise [€2) B K Traj. Noise €2
1.50 0.150290 5000 150 1.6541(34) 1.50 0.148750 5000 150 1.6557(229) 1.50 0.143480 5000 150 1.8601(19)
1.55 0.150251 5000 150 1.4033(44) 1.55 0.148500 5000 150 1.5781(54) 1.55 0.143654 5000 150 1.7057(25)
1.60 0.150030 5000 150 1.3172(21) 1.60 0.148800 5000 150 1.4073(37) 1.60 0.143749 5000 150 1.6354(12)
1.65 0.149328 5000 150 1.1344(50) 1.65 0.147900 5000 150 1.2322(25) 1.65 0.143416 5000 150 1.4712(18)
1.70 0.148086 5000 150 0.9608(26) 1.70 0.147100 5000 150 0.9918(22) 1.70 0.142871 5000 150 1.3677(17)
1.75 0.146763 5000 150 0.7440(23) 1.75 0.145800 5000 150 0.8659(21) 1.75 0.142105 5000 150 1.1875(26)
1.80 0.145127 5000 150 0.5111(17) 1.80 0.144100 5000 150 0.6180(24) 1.80 0.141139 5000 150 1.0392(15)
1.85 0.143502 5000 150 0.3631(14) 1.85 0.140070 5000 150 0.8441(14)
1.90 0.141849 5000 150 0.2930(12) 1.90 0.138817 5000 150 0.6648(12)
1.95 0.140472 5000 150 0.2350(8) 1.95 0.137716 5000 150 0.5459(7)
2.00 0.139410 5000 150 0.1897(11) 2.00 0.136926 5000 150 0.4504(7)
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c 0.0418(22) 0.0404(60)
x2/dof 8.73 3.32
scale | Vizo/a  Vhs/a  Vioja | Jhola  Vbsja  Jiso/a
—adf/da | 3.90(25) 3.85(16) 4.01(39) 3.90(25) 3.85(16) 4.01(39)
K 0.00060(5) 0.00060(4) 0.00058(6) | 0.00057(9) 0.00058(9) 0.00056(10)
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